| N of reco track vs normalized x2 | N of associated (recoToSim) tracks vs normalized x? N of associated (recoTosim) looper tracks vs normalized X
1%} (%] - T %] [%]
x x < B4
[*] Q [=] o
g g s 8
1 210° 2 ]
g g E
=
=]
=l
10? 10?
Lo 8 o
3 3 s
4 14 o
o SRt ok s o d1 ] o R
12 14 16 18 20 0 8 10 12 14 16 18 20 0 2 4 8 10 12 14 16 18 20 "0 2 4 6 8 10 12 14 16 18 20
track x2 track x2 track x2 track x?

Qo RECO =

.. tracks

trye tracks
[fake tracks

duplicate tracks

=
o
S
i
(=)

Ratio
Ratio
Ratio




	Contents
	Page 1


